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9 BT UF B | are compulsory. Each question carries one mark.
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TH{ 1

T 2.

9 3.

9 4.

gH 5.

Tt 100 Wiz S8 H A, B &1 20
e it a1 5 WeRus A T R A A
F AT B
(A) 5 /3.
(B) 41/4.
(©) 64 /3.
(D) 8%/4.

o 40 faom yrepfaew deaen %

TUHES | YT TEAT Fi TS B
3k BT |

A) 7

(B) 0

©) 5

(D) T q hig T

T A fer 1 9 Tt 12% a1 e
AT ], T A8 12% w1 fe siwan
1 5afem & e W o afted= g~
(A) 1.44% w1

(B) 1% =@

(C) 1.44% =T

(D) IS afied Tl

x3R L wwEE N dia
X+ EAEEEY -
(A) N?

(B) N?-2

© 2N*-1

D) 4N?-2

X4 1 %~ 1 W am R ST R
Al He BT~

(A) x-1

B) x+1

© x

D) -x

Qn.

On2,

Qx3.

Qn&r

In a 100 metre race A beats B by 20
metre or 5 seconds. Find the sl;eed
of A-

(A), S metre/sec

(B) 4 metre/sec

(C) 6metre/sec

(D) 4 metre/sec

The unit digit of product of first 40

natural numbers is.
(A), 7

B) o

© 5
(D) None of these

The salary of a worker is first increased
by 12% and there after it was decreased
by 12% what was the change in salary -
(A) 1.44% Decrease

(B) 1% Increase

(C) 1.44% Inerease

(D) No Change

The mean of X + )lc is N. Then the

mean of Xx* +51c'2 is -
(A) N

® N-2.

(C) 2N’ -1

(D) 4N?-2

It x¥7+ 1 is divided by x> - 1, the
remainder will be -

(A) x -1

(B) X+ 1

© X

D) —X
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)<y 8 p q
‘ ' ﬂfi +“—2%€T Q}yﬁ If—(l‘+j=2, what is the value of

RO ORI O MO

A) 0 Aa) 0
(B) 2 (B) 2
€ -2 © -2
(D) T { IS Tl (D) None of these

g7  FEAdAFRwEgd wHE - QA7. Which one of the following is in

ascending order -
® 6 i 307 ® § 353
7 5 9 4 7.5.9 4

B) 6473 B) ¢ 273
© 3736 © 336
SRR RS RN

ﬁisr (9 8 AT 11 ) ﬁQﬂQMﬁ Direction ( Que 8 to Que 11) There is a (number
ue (HEET /AR ) Ao & 7, fewd /letter) series in the following questions
Th 'Faqra ug i 99 araes o with an item missing, marked with
( ?7) ¥ =witar e ¥ | fau o fasmeat question mark (?). Find the best
ﬁﬁmmﬁmmm appropriate option from the given
it | , Optior-

‘uw 8. 4, 18, (?),100, 180, 294 @ns. 4,13, (?),100, 180, 294

(A) 32 (A) 32
(B) 36 (B) 36
(C) 48 - (©) 48
(D) 40 (D) 44

T 9. 30, 68, 130, 222, (?), 520, 738 Qw9. 30, 68, 130, 222, (?), 520, 738
(A) 420 (A) 420
(B) 350 (B) 350
(C) 250 © 250
D) 280 D) 280

e 10, 6072, (?), 200, 48, 14, 5, 3 QuA™ 6072, (?), 200, 48, 14, 5, 3
(A) 1010 ' (A) 1010
(B) 1001 ‘ (B) 1001
(C) 1100 © 1100
D) 1110 @) 1110
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9 11. NSV, K7T, (?), E14P, BI9N Qn1l. NSV, K77, (?), E14P, BI9N .

(A) H9R (A) HO9R
(B) H10Q (B) H10Q
(C) HIOR (C) H10R
(D) T10R (D) I10R
9w 12. Rt st @ zo%a'a'agq Qn12. Azn ele\l'ator has tlillglcapacil;y to carry
& A ?Jﬂ?ﬂ R 115 W= & W zladu??suct:noll;ezga:ri.e?lrle);.theo:;e'\l/l;lz
fomat w3l =t foree =@ o e with 15 children-
(A) 4 (A) 4
(B) 3 (B) 3
€ 5 (G
(D) 6 (D) 6
Y9 13. AR HE =41 AT SHE =49 & @ Qn13.If HE = 41 and SHE = 49 then
COME =? COME=?
(A) 36 (A) 36
(B) 70 (B) 70
< 72 o 72
(D) 78 (D) 78
g9 14. Tam=ifera arfeha i o s ar o= \Qn 14. Which of the following four logical
T, HIE, HTR 08 o U Eaeul diagrams represent correctly the
= TE T W g9rar € ? relationship between whale, fish, crocodile?

(B) @O : (B)
() ©

(A
B

086%)@

o QO - D
O
e - (u w. 15% 18 H o) Direction ( For Que No. 15to 18)

§ In each of the following questions there
freferfaa g ge [ A WE are given a combination of letters
fATILE e A,B.C,D)ferameq . Fl?“wed l:)y fIrOm (A_,B,C,E) lilltemat:)\;es
%- | 3"!'& ﬁ faq an‘m yfifa & choose t ea tel_'natlve which resembles

. ' the mirror image of the given
ﬁmaﬁgﬁ l combination most appropriabely.
g9 15. BUZZER Qn 15. BUZZER
(A) SAdXXUd (A) SAXISUd
(B) REZZUB (B) REZZUB
(C) dussFd (C) duUsxds
(D) dAdzZ304 (D) AdZXud
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9%t 16. JUDGEMENT
(A) TNEMEGDUI
(B) TmaMaGdUL
(C©) TmamMgoqauUl
D) tugoaMauT

g 17. R4E3N2U
(A) S94N2U3
(B) U2N3E4R
(C) USHEdR
(D) USNETR

g% 18. DBV8476

(A) oLe8VEd
(B) 6748VBD
(C) 8476DBV

(13) o TR8VEd
- féw: - (vE 19 % 22 % fom)

Qn16.

Qn17.

Qn 18.

JUDGEMENT

(A) TNEMEGDU!
(B) TUAMAGAUL
(C) TIMIDAUL
(D) LUADIMAUT

R4E3N2U

(A) S44N2U3
(B) U2N3E4R
(©) USpedersd

(D) USNEdRS

DBV8476

(A) yrpgvada
(B) 6748VBD
©) g476DBV

O yrpgvaa

Direction ( For Que No. 19 to 22)

S A T gyl ® 3 & g In each of the following questions a
Afam (3t ) ® @ fean T 2 matrix of certain number is given with
i wwm e R ( ?) 9= fe=r ® a question mark (?) in one block. These
afn W HEAT U fav ted W numbers follow a certain trend carefully
LTI HAA € | LAY UG a9 go through the numbers and choose the
fiaa T ( ?) & T sfea wwn missing (?) character -
ol
T 19. Qn 19.
4 5 6
2 3 7
1 8 3
21 98 ?

(A) 94 (B) 76 () 73 (D) 16
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99 20. : Qn 20.

38 44 42

23 55 28

37 ? 39

—

(A) 33 (B) 66 (C) 22 (D) 77
994 21. Qn21.

? 13 49

9 17 69

13 11 59

A 9 @B 5 © 10 D 11

T 22, Qn22.
1 5 7 75
8 3 4 ?
9 7 8 194

" (A) 20 (B) 43 (C) 8 D) 9%

e - (v w230 26) Direction (Que No. 23 to 26) _
o & ¥ e wi Wﬁ‘@"ﬂi‘ "~ Read the information carefully and
g, fEu U e & IR e | . answer the question that follow.
i 5 A Blacksmith has five iron articles A,
& %’_ aw ) =371 9 B, C, D, E each having a different
(T )Fua a&qi A, B, C, D, E, ¥ welght,
() A H 9R B W g 2 (i) A weighs twice as much as B.

(ii) BT WR C % AR |G TR AL | (i) Bweighs four and half times as much as C.
(iliy C =T YR D & TR T A4T 8

€ (iti) C weighs half as much as D.
(iv) D 3T ¥R E o WR T 3T41 7 |

(iv) D weighs half as much as E.

) ; AR A | U C @ (v) Eweighs less than A but more than C.
c
G923, TAH W UR Y HaW SeRI B B | Qn 23. Which of the followingiis lightest in weight.
(A) A (A) A
(B) B (B) B
©) C © C
(D) D " (D) D
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¥ 24. Emﬁﬁrﬁ&la@aﬁ@m%? -

(A) AB
(B) D,C
© AC
(D) D,B

uv 25. E fora 2 o sl @ Wil 2

(A) D,B
(B) D,C
© AC
(D) A/B

TS 26, TR W I T o WAH WA R ?

(A) A
(B) B
© C
D) D
frder: - (U H. 279 30)
& T AR LAY gt AT
fam T el 36 S ffe-
w Fraeu wfeafiEn § 9: T A, B,
C.D.E,aF UM AWEIAIRE
ATE A ARSI IFSD,EFIaEA 8
C, A 3 ST ol WA Tl 1geht (T )
218 3R D, C & faar & wd =
gt §1
9% 27. D,A ¥ FRE weR wrafua 2=
(A) == '
(B) s&d
(C) st
(D) =ud
g9 28, q&N wfawrit feraw €2
(A) 6
B) 5
©€) 4
D) 3
NTSE-I

Qn 24. ks lighter in weight than which of the
other two articles.
(A) .A,B
@) D,C
© AC
() D,B

Qn 25. Eis heavier than which of the following
two articles-
(A) D,B
(B) D,C
© AC
(D) A,B

Qn 26. Which of the following is heaviest in
weight-
A) A
(B) B
© C
D) D
Direction ( Que 27 to 30)
Read the information carefully and
answer the questions that follow-
There are six children taking partin an
essay competition, namely A, B, C. D,
E and F. A and Eare brothers. Fand D
are sisters of E. C is the only son of A’s
uncle. B and D are the daughters of the
brother of C’s father -

-Qn27. How is D related to A ?
(A) Uncle
(B) Sister
(C) Niece
(D) Cousin Sister

Qn 28. How many male competitor are there-
(A) 6
(B) 5
© 4
®) 3




U 29. Afeen gfawmt fha €2

(A) 5 (B) 4
©) 3 D) 2
9 30. C,F W form yam qrafaa 27
(A) THUNE  (B) WE
¢ = (D) ==
o - (YW w3 AU ® 35) f e
TSR T Ugaht WoT 3 Jee & |

(i) o W TgH, FAN, A, T, A
3R Tt At s o asht
o: Tl &t ©: ofem-atem deensi |
ekt forett ek = #: f&ﬁﬁ—m
2! g, Ta-smrege, o ue - A,
HehT-Tdl & 1 HfS-hIeihm | 356
T4l % S AR -0 T § S
STCTT- STCTT §- el Tl S-St A,

2 ¥ ford ¥ 1 3 foreht forgtwshm & & T
Sl & 1

Gy ToEwidaamEERTF I
sfean arer ¥ M ¥ 9 ot A m
FERN

(i) IR SiTeRe W ET T & 3R 9% N
% 19 T AT S |57 R 8 FH
¥, ST $-Tet W STt Hel & Ty B 1

(iv) , Ug< 1 §-Hel @ S 7 & T ¥

SR P W

(v) Sk HehiA % Ty H T FT
3R ST fordt o |y M F T
-9 W I1E-% Y T R |

(vi) R - Frgferr rerean g€ ¥ 8k
IHHT E-Hel @, TTeHe F 1Y 78 8 |

(viiy FWTAFR YA HFHFAE |

(vii) ot fgferr 2=t o g€ & sae -9
w@rar 7 o fewie & 91y § T8 B
FAAL

(ix) 9 i siRg 3 7

Qn 29. How many female competitons are there-
Aa) 5 - (B) 4
© 3 D)y 2

Qn 30. How is C related to F -
(A) 3Cousinbrother (B) Brother
(L) Son (D) Uncle

Direction (Que 31 to Que 35) Read the information
_carefully and answer the question.

()  Six friends Rahul, Kabeer, Anup, Raghu,
Amit and Alok were  engineering
graduates. All six of them were placed in
six different companies and were prosted
in six different locations namely Tisco-
Jamshedpur, Telco-Pune, Wipro -
Bengaluru, HCL-Noida, Mecon-Ranchi
and Usha Martin-Kolkata. Each of them
has their personal e-mail ids with different
e-mail providers i.e. gmail, indiatimes,
rediffmail, yahoo hotmail, sancharnet

_ though not necessarily in same order.

(i1) éﬂle one having e-mail account with
sancharnet works in Noida and the one
havinrg email account with india times
workrs for Tisco.

(iii)  Amitdoesnot stay in Bengaluru and does
not work for Mecon, the one who works
for Mecon has an email id with gmail.

(iv) ~ Rahul has an email id with rediffmail and

" works at Pune.
(v)  Alok does not work for Mecon and the
one who works for wipro does not have
an email account with yahoo.
(vi)  Kabeer is posted in kolkata and does not
have an account with hotmail.

(vii) Nither Alok nor Raghu work in Noida. -

(viii) The one who posted in Ranchi, has an
email id which is not an account of
rediffmail or hotmail.

(ix) Anup is posted in Jamshédpur.

NTSE-I



9 31

T 32

T 33.

I 34.

G 35.

St farar W T T § SHen -0
@ frER aa R ?

(A) TEOR

B) g

(C) ewda

D) &

o % @ -0 @, frgfem wm
3R =afem, @t S 9 e w@e?
(A) FHER - HichmaT - ASHA
(B) ik - dMgE - Sfearre
© | - - AR

D) ¥ - T - St 7S

fadasmT s aas?
(A) e =t gl = A 7
(B) T ! Frgfera S # 8
(C) R <l &l @I A & T 2|
(D) T F $-Ha1 @ AR F

ek

o= ® @ = 1w STTelT, e,

31U, TEA, 7Y 3R 3fira o Frafe

T FFT R

(A) TR, HUET, O, SRR, e,
IR

(B) TIcTe, hiciehTdl, SFRISYY, IO,
ez, T

(C) ehicwpma, AT, SRR, IO,
g, T

(D) FHIAFET

F e € oot @ Sfsamen,
Fam 72, 3R a1g & Wy §, A fm
HEeel W FrE B 139k W € ue

WA FHETE A @ R |

(A) T HIfe, Ca.E.ua., faw
B) fomnt, faw, s miféa
(C) wwH.E., fomnt, famt
D) fo=R, e, so o

Qn 31.

Qn 32,

Qn 33.

Qn 34,

Qn 35.

The man who works in wipro has an
email account with -

(A) Sanchamet

(B) Yahoo

(C) Rediffmail

(D) Hotmail

Which of the following email, place of
posting and person combination is correct?
(A) Kabeer -Kolkata -Rediffmail
(B) Alok  -Bengaluru - Indatimes
(C) Amit - Noida - Yahoo
(D) Raghu - Ranchi - G mail

Which of the following is true -

(A) Amitis posted in Ranchi.

(B) Raghu is posted in Jamshedpur.

(©) Kabeer has an email id with yahoo.

(D) Raghu has an email id with
indiatimes.

Which of the following sequence of
location represent Alok, Kabeer, Anup,
Rahul, Raghu and Amit in the same
order-

(A) Bengaluru, Noida, Pune,
Jamshedpur, Ranchi, Kolkata
Bengaluru, Kolkata, Jamshedpur,
Pune, Noida, Ranchi

Kolkata, Bengaluru Jamshedpur,
Pune, Noida, Ranchi

None of these

(B)
©

D)

Peaple who have email account with
indiatimes, sancharnet and yahoo work for
which companies in the name sequence as
the email account maintained-

(A) UshaMartin, H.C.L., Wipro

(B) Tisco, Wipro, Usha Martin

(C) H.C.L., Tisco, Wipro

(D) Tisco, H.C.L, Usha Martin

NTSE-I



T 36.

(A) 48

9 37.

9 38.

9 39.

Teh el H TTgahi shi AT igfRal
TR I s Hmr R
3w & < e Taenfolai o sient o
yfafterea & o Wehd 2,

(B) 44

©) 42 (D) 40 .

qEA+B>C+D3IARB+C>A+D
qa ag i g fm

(A) D>B (B) C>D

(C) A>D @) B>D
af% 264 % 2=6,870 % 3=11 @Al
735 % 5 T | BATT-

(A) 5 (B) 12

©) 16 (D) 3

Teh eI H 35 BT § | GHA el &t
wefral # M T W ¥ fE
T % TSH ¥ urHd T W )
oA o T e Afa ¥ T

2 ¥ 1w A Y A I T A

T T TE ¢ | W Afa v
WA R?

(A) 7@ ®H
(©) 8d =

(B) 5aif =M
(D) T @l fohan
ST Hehall

(IS FH. 40 W 44)
2 &} 778 AR o TR T Gg

" T I -

T gd e Th TS TR Et
wferafirar ® fasfira =, &= fraa
U U W, ok =G i ST

oft |5t 880 WiawTfiTadl & 224 71 Z9i
1 wa T, 240 3 fomm= & =am
e, 336 7 @t o1 w9 fora, 64
A T v fosm @ =ee foea, 80
g9t iR @t & =g R, 40 1
=9t 3R famm= = =g faan qen
24 3 |t = & s T

Qn 36.The number of boys in a class is three

Qn 39.

times the number of girls. Which one of

the following number can not represent - -

the total number of children in the classf )

(A) 48 (B) 44
(C) 42 (D) 40
Qn37. A+B>C+Dand B+ C>A+D then

it is definit that-
(A) D>B B) Cc>D
(C) A>D D) B>D

. Qn 381 If 264 % 2= 6,870 % 3= 11 then 735 %
Sbe-
(A) 5 B) 12
©) 16 D) 3
There are 35 students in a class. Suman

ranks 3rd among the girls in the class.
Amit ranks Sth among the boys in the
class. Suman is one rank below Amit in
the class. No two students hold the same
rank in the class. What is Amits rank in

the class-
(A) 7thrank (B) Sthramk
(C) S8thrank (D) Cannotbe

determined

Direction (Que No. 40 to 44)

“Rafer to the data below and answer the

question that follow-

A national level competition held last
year, participants were free to choose
their respective areas from which they
were asked questions. Out of 880
participants, 224 choose philosophy, 240
choose science and 336 choose sports,
64 choose both science and sports, ?0
choose philosophy and sports, 40

“choose, philosophy and science and 24

choose all the three areas. i

NTSE-I



U9 40.

U 41.

U 42,

U 43,

T 44.

T wfavm gfeafiay = faedt off
8 T = A T -

(A) 2359%  (B) 30.25%

©) 3746% (D) 21.27%

Tt ufasiire ¥ | fora wfeema A
Hae Teh &1 o1 a9 fhar-

(A) 60% (B) 60% @ aferh
(€ 60%TFH (D) 75% & Afah

mﬁuﬁwﬁmﬁmﬁmﬁﬁ
&1 wg feran-
(A) 112
©) 136

(B) 24
(D) T | HIE Tl

ﬁwﬁ'ﬁméﬁf%mmﬁm
: 8 H ot-

(A) a&h@ﬁmm@m@ : qE
(Fae)

(B) WM wd we vy fom &
foam ()

© o : @

(D) ™ Il T

gfaunit f=2iv @ wE fasm &
wq fwan uteg <9i= T qan
gt foria T o == feman
T 9 3R B T F wed
AT~
(A) 2:5
C) 1:5

(B) 1:4
D) 1:2

(99 . 459 47)

&} ¢ TR WraaT gaen ug 3R
I W I G o Ieeld & |

W 2R T gt 3R st
3T Werd § | whaa 3 i gt
2 AT =BT W & | T 3

Qn 40. The percentage of participants who did

Qndl.

not choose any area is-
(A) 23.59% (B) 30.25%
(©) 37.46% (D) 27.27%

Of these participating, the percentage
who choose only one area is-

(A) 60% (B) More than 60%
(C) Less than 60% (D) More than 75%

Qn 42. Number of participants who choose at

least two area is-
(A) 112
©) 136

(B) 24
(D) None of these

Qn 43. Which of the following areas showes a

ratioat1:8?

(A) Philosophy & Science but not sports
: Philosophy (only)

(B) Philosohy & sports but not science :
Science (only)

"(C) Science : Sports

(D) None of these

Qn 44. The ratio at students choosing sports

& Science but not philosophy to science
but not philosophy & sports is-

(A) 2:5
C) 1:5

(B)
(D)

f— —
| ST SN

Direction (Que “No 45 to 47)

Read the following information carefully
and answer the questions based on there-
Ravi and Kunal are good in hockey and
volleyball. Sachin and Ravi are good in

-hokey and bese ball. Gaurav and Kunal

NTSE-I



9 45.

T 46.

G 47.

T 48.

G 49.

T 50.

T retare 3R fhdhe st
@ew ¢ | wiem, arR R a

AT AR FEaTe 33T Werd & |
T, fortne 3 TeltaTer @i 3rest
| e ?

(A) dfe (B) FT@

(C) EMR (D) Wa
aeTe, e, wettaet 3R geaTer
FA BT B & ?

(A) g (B) FA

(€ Tira (D) ¥R

H BT R AT TS W
¥ W T, eeaTe 3R fRee
3BT T W |

(A) ER (B) =feq

©) Ua (D) T

(Y F. 48 W 49 & fom)

e R 7w Oy e R
w f&u T 4 fawed # @ F= W@
am?

e : FqQ ; : UfEe : ?

(A) #HI (B) HsH

©) ofew (D) TR
ATAR : W @l : ?

(A) fram (B) WA

©) @ (D) A
foreft wionfoas AT H DEAF T 1S
3587 W1 FILLR T S 74665 &
| 3t @re ¥ IDEAL =1 1 foran
S ?

(A) 43568 (B) 43586
(C) 48536 (D) 63548

are good in volleyball and Cricket,
Sachin, Sagar and Gaurav are good in

baseball and football-

Qn 45. Who is good in hockey, cricket and .
volleyball ?
(A) Sachin
(C) Sagar

(B) Kunal
(D) Ravi

Qn46. Who is good in baseball, cricket,

volleyball and football-
(A) Sachin (B) Kunal
(C) Gowrav (D) Sagar

Qn 47. Who is good in football and baseball but
not good in hockey, volleyball and

cricket ?
(A) Sagar (B) Sachin
(") Ravi (D) Gaurav

Direction (for Que No 48 to 49) _
Find the correct choice from the given
4 options in place of question mark (?)

Qn 48. Bank : Rupees : : Transport : ?
(A) Goods (B) Road
(C) Traffic (D) Speed

Market: Demand : : Farming :
(B) Monsoon
(D)  Supply

Qn 49.
(A) Farmer
(C) Foodgrain
Qn 50. In certain language DEAF is coded on
3587 and FILLR is coded as 74665, How
is IDEAL written in that code-

(A) 43568
(C) 48536

(B) 43586
D) 63548
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LANGUAGE COMPREHENSION TEST (ENGLISH)

Instructions for Q. No. 51, 52 & 53

The following five sentences come from a paragraph/dialogue. The first and last sentences are
given; choose the order in which the three sentences (PQR) should appear to complete the . -
paragraph/dialogue.

Q.No. 51.

S1. Remove the thermometer from its tube.

. i ees e st rressas i pebaininduaipasst snginsaga e bebyenesassrase £ shsbeesesefesens asess nisbaserderastsebe snsessanibasens
S 1 JS OO SR RSO RRTUTRRORTIN
S et ettt et

S5.  Thenmove the thermometer from the patient's mouth and read the temperature.

P.  Askthe patient tokeep the mouth close.

Q Shake down the column of mercury.

R Place the bulb of the thermometer inside the patient's mouth below the tongue for two

minutes.
Choose from the options below :
(A) PQR (B) PRQ _e) QRe 4 RQP
Q.No. 52.
S1.  May | speak to Mrs. Mehta?
82, s nstensesrstesessssgars ORI - osovvessssecssnerasasssissasrenestansosassessonnarisessanssnn
83, i ons S T oo e vnsans e servasaisaserisseniasesensesossssenseiverss sosesssarhins i
S ettt
S5.  Tell your mother that there is a party at my home at nine in the evening tomorrow.
P. I am Mrs. Verma. May | leave a message?

Q Sorry, mother is not at home.,
R. Yes, of course aunty.
Choose from the options below :
(A) PQR (B) QRP (C) RQP A40) QPR

Q.No. 53.

S1.  Agentleman who lived alone always had two plates placed on the table at dinner time.

B2, eV isnsesinesnsentrisaestsiesirvindensidensesiaunsnonteassesvasesdasasentusses ase easass ens asannstess hasepansantar erel

S 1C OO OO SO

S et e ettt ettt

S5.  Inthis way the cat showed her gratitude to the master.

P. One day just as he sat down to dine, the cat rushed into the room.

Q. One plate was for himself and other was for his cat and he used to give the cat a piece of
meat from his plate.

R She dropped a mouse into her own plate and another into her master’s plate.

NTSE-I 17
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Choose from the options below :

@/ QPR (B) RPQ (C) POR (D) PRQ
Q.No. 54.
R One day a hungry fox saw a crow.

D rmecerasepmessesspansenesosansssaratas shoner supaesd exdasngansenaniioba dibanisinnstes arsy sersenanssbt UV sevOO R Es RO AEOR IR R R s e ae 440R0 4845
3. The fox planned to get the piece of bread from the crow.

(A)  Thecrow looked very ugly.

(B)/ It had a piece of bread in its beak.

(C) Itwas staring at the fox.

(D)  Thefox was angry at the crow.

Q.No. 55.

1. Ram went for a bike ride.

D e eesesessesaxseneseeassasnpessesmassenssasresassasaienentsssvereenssiosernesoagliie i re N ORI W evrresensnsnnasneserenes
3 He hurt his knee so his mother put a band aid.

(A)  Heenjoyedtheride.

(By» Hehitabumb and fell down.

(C) He stopped and had snacks on the way.
(D)  His mother loved him very much.

Q.No. 56. »

1. Take two slices of bread.
e 2 s snenssagaroee S - W e ettt res sensuisstvensassorsiniihavensrassist sasesshostsesysh asnfas crsuasens

3. Put the two slices together and enjoy the butter and jelly sandwich. |
* (A) Spread butter onone slice and jelly on the other slice. {

(B)  Goto shop and buy some bread.

(C) Place them inthe fridge.

(D)  Call your friends and enjoy the sandwich.

Instructions for Q.No 57 to Q.No. 61
Choose the word which best fills the blank from the four options given below :

57. ROOIS.......cccooivciicnne the tree tightly to the soil.
(A)  grow (B) push (C) pul “®) hold
58. Iwill...coooe tomorrow morning.
(A) coming (B) came (C) become _(P) come
59. Wouldyoumind.........c.coooovrivnininnnnne the window.
(A) close (By~ closing (C) closed (D) haveclosed
60. VitaminChelpsto.........cocevvininiienn diseases. ‘
(A)  know (B) find (C) fought Dy fight ‘
NTSE- 18 \
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61. Mymotherisreading...............cccccoeon. newspaper.
9) today's (B) today (C) todays (D) todays

Instructions for Q.No. 62 to Q.No. 66
Choose the correct meanings for the given idioms/phrases :

62. Bedofroses:

(A) verysoftbed (B) dulllife (C) belongto @) fullofjoys
63. Byleapsandbounds: )

(A) veryslow (B veryfast (C) indetails (D) aimlessly

64. Back stairinfluence :
(A) fair and proper influence (B~ secretand unfairinfluence
(C) political influence (D)  noinfluence

65. Baker's dozen:
(A) ten (B) eleven (C) thiteen AD) twelve

66. Totie a knot
(A) tohitsomeone (B) tostaycalm (C) togeteducated (D) togetmarried

Instructions for Q.No. 67 to Q.No. 70
Find out the alternatives which are most opposite in meanings to the words given :

67. Guilty:
(A) criminal 4B innocent  (C) humble (D) good .
68. Expand: .
(A)  bend 4B  contract (C) tie (D)  stretch
69. Brisk:
(A) agile (B) fast T sluggish (D)  swift
70. Minor:
(A)  tall JBY  major (C) big (D)  heavy

Instructions for Q.No. 71 to 73.
Select the most appropriate options to fill in the blank from the following alternatives given below:

71.  I'mvery happy as my favourite singer .......... to my town next october for a big concert.
(A) hascome (B) hasbeencoming (€y isgoingtocome (D) doesn'tcome

72. Canthejuicer..........ccococoee.... by Saturday?

(A) repaired JBT berepaired (C) hasrepaired (D) being repaired
73, e one is yours?

(A) _Which (B) Who (C) What (D) How
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Instructions for Q.No. 74 to 76
Choose the alternative which can be substituted for the sentence :

74. Agroup of stars -
AT Constellation (B)  Solarsystem (C)  Satellite (D)  Orbit

75.  Apaperwritten by hand:
(A) Document (B) Report A2) Manuscript (D) Essay

76.  Thatwhich canbe easily burnt
(A) Inflexible (B) Invincble (&F Inflammable (D) Incorrigble

Instructions for Q.No. 77 to Q.No. 85
In the following passage there are some numbered blanks. Fill in the blanks by selectingthe most
appropriate word from the options :

The foundations of good reading 77 the same for all children, regardless of 78
gender, backgrond, or special learing needs. 79 children use the same processes in learning
80 read. Some will need more help 81 others and may need more instructions 82 one reading
skill than another. 83 all children must ultimately master the same basic skills 84 fluency and
comprehensions to become 85 life long reader

77. (A) is (B) has JL) are (D) was
78. JAAY their (B) there (C) his (D) them
79. (K Al (B) None (C) no (D) each
80. (A7 to (B) of (C) for (D) in
81. (A) as (B) then (C) to UB)  than
82. (A) with (B) by S in (D) on
83. &) but (B) and &r so (D) of
84. (A) from (B) by (C) on 4by  for
85. (A) as (B) the (C) an ABP) a

Instructions for Q.No. 86 to Q.No. 90
Read the passage and choose the best alternative for the questions given below :

Clarkson s a large town. It has more than fifty thousand people. It is situated next to a large river, the
Clark River. Every day people take the ferry from North Clarkson to South Clarkson to go to work.

Most people live in North Clarkson. There are many trees and the streets are very broad. When
the sun shines and the children run and play in the safe streets, North Clarkson looks wonderful.

South Clarkson has a lot of shops and factories. People don't live there but they come in the
morning to work. There is a big stadium where the Carkson Tigers play. On Sundays, many
people go to watch their favorite team.
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At the weekend, the people from Clarkson enjoy walking along the bank of the Clark River. They
also sail small boats on the water and if there is a little wind, they fly kites in the large park.

Eyery year, Clarkson grows in size because a lot of people come to live there. The government _ . |
builds more houses and the streets get busier. Maybe in the future, if the town continues to grow,

it will become a city.

86. Whatis there near Clarkson?

-

w ariver (B) asea (C) amountain (D) a forest
87. What do you see in North Clarkson?
' (A) offices (B) factories  (£) widestreets (D) stadium
88. Where s the stadium?
(l?/ in South Clarkson- (B) outside the town
(C) neartheriver o (D)  onthebank of the river
89.  What do people in Clarkson do at the weekend ?
(A) swimin the river (B)  do shopping
(& goforwalks (D) takerest

90. Which statement in not true about Clarkson?
_(k)/ Itis situated next to a small river.
(B)  Every yearitgrows in size.
(C)  More than fifty thousand people live there.
(D)  The people take a ferry to go to work.

Instrctions for Q.No. 91 to Q.No. 100

Arobotis amachine. But it is not just any machine. It is a special kind of machine. Itis a machine -
that moves. It follows instructions. The instructions come from a computer. Because it is a machine,

it does not make mistakes. And it does not get tired. And it never complains unless you tell itto ! ’

Robots are all around us. Some robots are used to make things, example cars. Some robots are
used to'explore dangerous places. For example, robots can help to explore volcanoes. Some
robots are used to clean. thmgs These robots can help vacuum your house. Some robots can
even recognize words. They can be used to answer telephone calls. Some robots look Ilke humans
but most do not. Most robots Just look like machines.

Long ago people imagined robots. Over 2,000 years ago, famous poet imagined robots. The
poet's name was Homer. His robots were made of gold. They cleaned and made things. But they
were not real robots. They were all imaginary. Nobody was able to make a real robot. The real
robot was made in 1961. It was called Unimate. It was used to make cars. It looked like a giant
arm.

In the futur, we will have even more robots. They will do things that we can’t do, don’t want to do or
that are too dangerous for us. Robots will help us to fight fires, wars and sickness and discover
things. They will help to make our life better.

90. Asusedinparagraph 1, we can understand that robot doesnot get -
(A) tired (B) happy (C) angry (D) sad

NTSE-I 21




91.

92.

93.

94.

95.

96.

97.

98,

99.

100.

According to the author, robots may be used to:
M make cars
M) explore volcanoes
()  answer telephone calls
(A) lonly (B) landllonly (&Y |1l andill (D)

What is the main purpose of paragrah 2?

(A) toshow how easy it is to make a robot.

BY  todescribe the things a robot can do.

(C) totellwhatarobotis. :

(D) toexplain the difference between a robot and a machine.

According to the passage, when was the first real robot made?

By 1961 (B) 1900 (C) 2003 -~ (D)
The robots imagined by Homer were made of :

(A)  silver

(B) steel

Ae) gold

(D)  bronze

Which of these statements correctly summarizes this passage ?
(A) Robots are old.

(B)  Robots are confusing.

(C) Robots are dangerous.

,(,B'f Robots are helpful.

The name of the poet who imagined robots 2000 years ago was :

(A)  Ravindranath Tagore (B) Blake (G) Homer (D)

lland Il only

2000 years ago

Wordsworth

According to the passage the robot follows the instructions that come from a :

AA) Computer (B) humanbeings (C) children

The first real robot looked like a:
(A) gaint foot (B) giantman _{€) giantarm (D)

The first robot was named :
(A)- Ultimate  «BJ Unimate =~ (C) Uninate (D)

Which title best expresses the main idea of this text?
(A)  Robotand its invention.
(B)  Thefirst robot.
(C) Robot has made man lazy.
‘,(ZY Robot and its importance.

(D) allthe above

giant

Unicex




